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Explain about various transmission media in physical laycr witlr a neat sketch. tlt)l

4. Write in detail on Time-I)ivisiuri Multiplexing ancl Frequency-Division Multiplexing
with an example for each. tiOl

OR

: i,:'ryrit" *d q*PI*3, about *&l1prltiple ac{ii}q.iirotocol s.

Explain the Optimality e.in"ipfe with a suitable "**pt".OR
Explain distance vector routing algorithm.
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maximum packet size? Explain.
OR

Explain tree-structured numbering scheme.

abgu1"Rf;C with a neat.skerch. i...;.",":,': ; '" ".i';:.:"-,; i':1, i;,,i OR :',:
DNS? What are the services provided
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consists of 5 Iinits. Answer any one full question from each umt. Hach question carries
l0 marks and may have a, b, c as sub questions.

Niiib:.::fhis questiiip flIper containg,irypiparts A and"_B;.":; i.i., :'.:i i..., i".:;' '" 
""'Part A is cbrir|)irlsory which caties 25 markil'Answer au dubs"iions in part:a:'ir*t B
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